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Dimensional Analysis Practice Worksheet #2

Use the following conversions to complete these problems:



1 egg = 45 grams



1000 grams = 1 kilogram (kg)



1 kg = 2.2 lbs.



1 car = 2000 lbs.

Convert from the given amount to the amount stated.  SHOW ALL WORK, including all ratios and cancellation.  Include the proper units in your answer.

1.  Convert 27 eggs to kg

	27 eggs
	45 g
	1 kg
	= 27 * 45 / 1000 = 1.215 kg

	
	1 egg
	1000 g
	


2.  Convert 500 lbs to eggs

	500 lbs
	1 kg
	1000 g
	1 egg
	= 

	
	2.2 lbs
	1 kg
	45 g
	


3.  Convert 500 grams to pounds

	500 g
	kg
	lbs
	= 

	
	g
	kg
	


4.   Convert 3 cars to eggs

	3 cars
	
	
	
	
	=  

	
	
	
	
	
	


5.  Convert 3000 grams to cars
6. Convert 5 cars to kg[image: image1.bmp]
